SELA —2089 (MATHMATICY)

PART - 01 HIT - 01
Algebra, Sequence and Series, St T, W\?vﬂ'{' A, TwHd-
Permutation-Combination |
1. Universal set, 1. HEe Y=,
U = {x[a® — 6x% + 1123 — 632 = 0} U= {x|x5 — 6x* + 11x% — 622 =0}
A= {x|]x*>—5x+6=0} A= {x|x®2-5x+6=0}
B={x|x?2—3x+2=0} B={x|x?—3x+2=0}
What is (ANB)' equal to ? (ANB)' % SIER 41 BT ?
(A) {1, 3} (a) {13
B {13 ® (0,13
© 123 © 23
(D) {0,1,2,3) (D) {0,1,2 3}
2. Let\ and o are real 2. W?ﬁﬁ)\aﬁ'{amﬁ?%.
Ax + sinoy +cosarz=0, Ax +sinoy + cosarz =0,
x + cosa-y +sinarz=0, x +cosoy +sinarz=0,
—x +sinay —cosaz=0 —x+sinay —cosarz=0
has a non-trivial solution. If A=1, then Teh A=y 81 {Q@dl Bl A A=1 T « ED
all the value of a is : [oft W Fi
(A) n’rr+—q21 (A) mT‘*‘-zTE
(B) nmx ®) nmx
(C) nw+ E, nm (C) nm+ iZ—, nm

w v i
nmw+ — + nmw+ — + —
(D) nm+ (D) now o+

T
2 2

SPACE FOR ROUGH WORK / T% @1 & fo& S8

0129/ TE-MATH/RCE-M 3 Set - A



Let o, B be the roots of x¥>—x+p=0 and
v, d be the roots of x2—4x+q=0. Ifa, B,
v, & are in G.P. then the integral values of
p and q respectively, are :

(A) -2, —32
(B) -2, —36
© -2 -3
(D) —6,3

Let w # 1 be a cube root of unity and S be
the set of all non-singular matrices of the

{ 1 a bw
form | w 1 «c/|, where

_w2 w a|
each a, b and c is either w or w2. Then the
number of distinct matrices in the setSis :

(A) 8
(B) 6
© 4
(D) 2

Let R be a relation in the set of integers
defined by a R b if and only if a and b
both are neither even nor odd. Then R
is:

(A) Reflexive and symmetric

(B) Symmetric and transitive

(C) Symmetric but neither reflexive nor

transitive

(D) None of these

3.

o @t T gl 22— x+p=0 % qA
o, B@x2—4x+q=0ao‘11?'[y, 5% afe
o B, y,SWWﬁ@,?ﬁpaq#
quiish B SO B |

(A) -2, —32
(B) -2, —36

€ -2 -3

(D) -6,3

T & R w1 5K &1 T T T 3RS
1 a b

w 1 c| 9HR & kAT STEIE

WZWEI:,

T ¥, el Uik a, b SR c A w A
w2 8| 79 S H i el Y e St

(A) 8
(B) 6
©) 4
(D) 2

o &t foh T @Y R, YOl % @H=EE |
T YR IRV ®, a R b AfE 3R e 3fg
a 3R b A 7 d 99 ¥ iR A faww | @& R
¥

(A) g iR wufia
(B) WHAMA iR HWhTH
(C) wWfhd W 7 @ Wged 3R 7 Uoheh

(D) T § FFE T

SPACE FOR ROUGH WORK / T% &9 & &9 s g

Set~ A

0129/ TE-MATH/RCE-M



If (p A~1) = (qVr)is False and q and r
both false, then p is :

(A) True
(B) False
(C) May be True or False

(D) Data insufficient

If [Q + 1} =1, where [x] is the
15 5

greatest integer function, then :

(A) 15<2x +3y<30

(B) 5<2x+3y<30

(C) 5<2x+3y<30

(D) 15=2x +3y<30

A batsman can score 0, 2, 3 or 4 runs for
each ball he receives. If N is the number
of ways of scoring a total of 20 runs in
one over of six balls, then N is divisible

by :

(A) 16
(B) 14
© 7

D) 5

A (pA~1)=> (qVr) FEALT I qar
Sl IR, T p T

(A) WA
(B) 3T
(C) T A1 ITEA

(D) IR eToat@ &

zr&r[zmz}zﬁﬁ, T p——
15 5

e B, 79 ¢

(A) 15<2x + 3y <30

(B) 5<2x+3y<30

(C) 5=2x+3y<30

(D) 15<2x +3y<30

T TR T 8 W0, 2,3 M4 T
Hha1 $1 afe 6 TS % U SR H Fel 20 T

T F N TaE 9, A e H A FR N W

fausg o ?

(A) 16
(B) 14
© 7

(D) 5

SPACE FOR ROUGH WORK / T% &1d & fodl e
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9. For any natural n, the number 9, f&d yrFfaw & n & fad TE
4" +15n—1 is a multiple of : 4"+15n—1 T U BN
(A) 5 (A) 5
(B 7 B 7
) 9 © 9
DO 11 (D) 11
[1 -1 1—‘ (1 -1 1]
10. Let A=|2 1 -3|and 10. #m M fF A=|2 1 -3| &
EEEEEY PR
{ 4 2 2} [4 2 2
10B=|-5 0 al. If 10B=|-5 0 « 3fg
1 -2 3] L 1 -2 3]
B is the inverse of matrix A, then a is : B, g A &1 GhHH & T o 1 T &R
(A) -2 (A) -2
(B) 2 (B) 2
© 1 ) 1
D) 5 (D) 5
11. Different binary operations on a set : 11. T 9= R fafa= fgenamd gfwand -
(A) May have same identity element (A) AN TS IT9IE 1@ Ghd §
(B) Cannot have same identity element (B) HHM THHS TIIY TEl & Thd
(C) May have different identity element (C) T Toms STa9d @ Td ©
(D) Option (A) and (C) are correct. (D) fowed (A) 3R (C) w&t T
SPACE FOR ROUGH WORK / T% &1d & fodl g
Set- A 0129/ TE-MATH/RCE-M



12.

13.

14.

Find the range of :

Where [] is the greatest integer function.
(A) [0 =)
(B) [L =)
© O =)

D) (I =)

The number of proper divisors of 1800
which are also divisible by 10, is :

(A) 18
(B) 27
(C) 34

(D) None of these

If the system of equation ax+y+2=0,
x+by+z=0and x+y+cz=0(a, b, ¢,
# 1) has a non trivial solution, then the

13.

14.

1800 % TR qui wiorR! =i Hem s 10 | ot
I B, 1 GEA B

(A) 18
(B) 27

(C) 34

(D) T 9 HE T

It gt &1 FH™ ax+y+2=0,
x+by+z=0 AN x+y+cz=0(a, b, ¢,
1) TH AYT® '@ (@A 2, T

ValueOflia‘+1ib+a1ciS: 1—a+1—b+a—c7ﬂqﬁ%:
(a) -1 Aa) -1
(B) 1 (B) 1
© c € «
(D) None of these (D) T q HE Tl
SPACE FOR ROUGH WORK / T% @14 & fo& 97g
Set- A
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15.

16.

If zz+z+'1=0, where z is complex 15.

number,

then  the valie of

2 2
(z + 1) + (zz + —1?) Rl
Z z

If

that

—>

a -

(A)

(B)

©

(D)

—
a,

54
6
18
12
- - -
b, ¢ and d are unit vectors such 16.
(—> —>) (——) —>)
axb/ lecxd/ =1 and
- 1
c = 5 then :
- 5 =
a, b, c are non coplanar
= =
b, d are non parallel
e
b, ¢, d are non coplanar
- - > -
a, d are parallel and b, ¢ are

parallel

ARG 22+2+1=0, &l 2 T QETY G &,
a9 - fa=fafes w10 3w w@m

2 2
(Z + 1) + (zz |- %) + e
z z

1
(e 5)
(A) 54
(B) 6
) 18
(D) 12
Wﬁz,g,?aﬂtgsaﬁlﬁmwwn%
IED :xg)'(?x3)= A
2021

2
(A) a, b, o wEe T

B) b,d SRR

(© b, ¢, d wweeia e

-

(D) a,d EUFRESR b, ¢ WHARR
€

Set- A

SPACE FOR ROUGH WORK / T% & & fordl svg
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17. Let R be the real line.

Consider the

following subsets of the Plane RXR

S={x,y) :y=

x+1and 0 <x <2}

T={(x, y) : x—y is an integer}

Which one of the following is true ?

(A) Neither S nor T is an equivalence
relation on R
(B) Both S and T are equivalence
relation on R
(C) Sisanequivalence relation on R but
T is not
D) Tisan equivalence relation on R but
q
S is not
- - =
18. For non-zero vectors a,b,c
z8) . A=l Rl
aXb holds iff :
- = - -
(A) a-b =0, bec =0
- = -
B) b-c=0ca=0
- = -
© c¢-a=0ab=0
B e I
D) ab=bc=ca=0

17.

18.

T T R aTdfah W 81 R X R §HaA ®
Frefefied o= o1 §;

S={(x, y):y=x+1 30 < x <2}

T={(x, y) : x—y T I
AR A ©?
(A) RS TH T Towgedal Tl Td ¢

(B) RW, ST T Il Thgesl Wi ¢
(C) R, S THgedd e & | T Tl

(D) R, T THyead T ¢ WS T

Wma ,c%ﬁfw?r

(2 8)- 2 = Bl [ st ote
&) ab =0 bc =0

B B¢ =0 ca=0

© <a=0ab=0

@) 2b=bc=ca=0

SPACE FOR ROUGH WORK / T& T & fo& <
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19. If pth, qth, rth terms of a G.P. are the 19. Ife fore TOIRR 93 = p, qa'f, rafqa“q:r
positive numbers a, b, ¢ then angle & a, b, ¢ & A Giew
between the vectors A A A
N . . aZi + logsz + logczk LR
a2i + logb?j + logc?k and R N A
. . . @-1i+@-pj+ -k F T
@-1i+(@=-p)j+ (- kis: 10T o T B
T ey
@) 3 @) 3
gy sin’ [———~1 J sin 1| L
(B) Va? + b2 + c? (B) JaZ + b? + 2
™ w
© 5 © 3
(D) none of these (D) 7 9 %8 T
20. Let o, = (2+ V3)". Find 20. A W@ FF on = (2+ V3) wW
nlii)n (an —[an]), ([-] denotes greatest lim (o —[og]), (SR [] 7e9w EUIED
© n - o :
integer function ). FeT i T E) |
2 2
A) 3 @A) 3
1 1
B 3 ® 3
1 1
© 3 © 3
(D) 1 (D) 1
SPACE FOR ROUGH WORK / 7% & & fad wrg
Set - A 10 0129/ TE-MATH/RCE-M



PART - 02 HIT - 02
Trigonometry frerrurfuta

21. If in a triangle ABC, the sides are such 21. afg &1t ABC Y A B b, a, c AP. IO
that b, a, c¢ are in A.P., then

S (tanE + t._ariz) T

B C
(tana + tanzj - ——CTté
A : 2
cot—
2
(A) 1:2 (A) 1:2
(B) 3:4 (B) 3:4
© 2:3 (€ 2:3
(D) 4:5 (D) 4:5

22. If the sides of the triangle are 9y fz fiysl & HX P, q Ip2 + q% + pq,

P, 9, \j"quz +—p<] , then the greatest qel ATURAH I B ¢
angle is :

A 5 a) 5

(B) %:1 (B) %‘T

© %E Q) 2?“

(D) Zf (D) %T’

SPACE FOR ROUGH WORK / T& & & fo&f s
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23. The value of : 23, sin == sin ¥ sin 27 sin 2T o5 g
3. e value of : . 16 16 16 16
..om . 3w . 5w . 7w .
sm—f6—sm-1€sm—1zsmgls_ B :
1 1
(A) 12 (A 1¢
16 (B) 16
1 1
© 7 ©
(D) 1 (D) 1
24. The number of solutions of the equation ~ 24. GHEI tanx —secO% +1=0 (0, 10) H
tan?x —sec%x +1=0 in (0, 10) is : Bl h1 HEA BRI
(A) 3 (A) 3
(B) 8 (B) 8
(© 10 ©) 10
(D) No solution (D) ‘AT
25. The number of values of x, where 25. x F TA Ht A BM, <&
f(x)= cosx + cosv2x attains its f(x)= cosx + cosy2x ITHTH UM T&
maximum value is : ¥
(Aa) 1 (A4) 1
(B) 0 (B) 0
© 2 ) 2
(D) infinite (D) s
SPACE FOR ROUGH WORK / T &/ & fod se
Set- A
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26.

27.

28.

If 2sinx+120 and xe [0, 27] then the

solution set fo x is :

™ [0 %]

® |0 %"} U [%lzﬂ

o %]

(D) None of these

If cos(a+B) sin (y+3)=cos(a—p)
sin (y—3), then the value of cota cotf coty

(A) cot (a+B+y+d)
(B) cota
(C) cotp
(D) cotd

If
sina+sinf =1;

coso+cosP =m;

tan(%) tan(%) = 1N then :

(A) (P+m?)(1-n)=2m(1+n)

)
(B) (2—m?)(1-n)=2n(1+m)
(C) (+m?)(1+n)=2m(l-n)

(D) (F-m?)(1-n)=2n(1-m)

26.

27.

28.

g 2sinx+1=0 94T xe [0, 2w] T x T
T & 8 :

w 7]

o [o75]o e
o [t

(D) 39 | HE T

afe cos(a+B) sin (y+38)=cos(a—p)
sin (y —8), 99 cota cotf coty T AT B

(A) cot (a+B+y+3d)
(B) cota
(C) cotp
(D) cotd

afg
sina +sinB=1;

coso +cospp =m;

tan(%) tan(%) =1n qd:

(A)  (12+m?)(1—n)=2m(1+n)
(B) (2-m?(1-n)=2n(1+m)
€  (2+m?)(+n)=2m(1-n)
(D) (2~m?(-n)=2n(1-m)

SPACE FOR ROUGH WORK / T% &Hdl & for&t s

0129/ TE-MATH/RCE-M
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29.

T <R ¥ TYER Bt S 0, THF TE Y

A tower subtends anglés\t o, 2a, 3o 29. »
respectively at points A, B, C all lying on M et ifast e R TE WX @ | feed
a horizontal line through the foot of the iG] ﬁ@aﬁ A, B, C 9 HI: o, 20, 3a %, Gl
B . AB
tower. Then BC is equal to : BC 1 A/ B :
A sin 3o A sin 3o
(A) sin 2a (A) sin 2«
(B) 142 cos2a (B) 1+2 cos2a
(C) 2+cos3a (C©) 2+cos3a
sin 2a sin 2o
(D) sin o (D) . SN o
30." The period of _@ sinx + bcosx 5. 30. asinx + bcosx & G I A
' csinbx + dcosbx csindx + d cosbx
(A) 4w (A)  4m
(B) 3w (B) 3w
©) 2w Q) 2w
(D) 5w (D) 5
h i lue of 31 L = Soaa HH &I ¢
31. The maximum value o 4 cosd + 3sind — 5 :
1 -
4 cos + 3sinf — 5 ol
) oed 4 L
&) 3 (8 3
B — By -+
®) ®
C —i C __1_
D —l D _1
D) ™) 5
SPACE FOR ROUGH WORK / T% &M & fed g
Set - A 0129/ TE-MATH/RCE-M



32.

33.

34.

If the angles A, B, C of a triangle are in ~ 32.

A.P. and sides a, b, ¢ are in G.P., then
a2, b2 c2are in :

(A) A.P.
(B) H.P.
©

(D)

G.P.

None of these

3 sin20 j_

If tan"! (2’can29)—lsin_1 (4——
2 5+ 4cos20

is equal to zero, then tan® is equal to :

(A) 6
(B) 3
© 2

D) 1

Let n be a positive integer such that  34.

m _n

sin—— + cos— = ~— then:
2" 2n 2

4<n<8§

(©)

(D) 4<n<8

33.

Ife feret B[ % &1 A, B, C, A.P. &0t §
¥am F a, b, c, GP. 99 & §, @
a2, b2, ¢’ :

(A) A.P.
(B) H.P.
©)
(D)

G.P.
T | B T

afg

3 sin20 }_
5+ 4cos20
I F TR T W tand 1 HH BRI :

tan™ (2’can2 6)—%sin~1 (

(A) 6
(B) 3
€ 2

(D) 1

Iqfe n TH YAHS qUITH IH THR © 16
‘/Eﬁﬁ:

., T ™
sin— + CcoS—— = —
2" 2n 2

(A) 6<n<8
(B) 4<n<8

©
(D) 4<n<8

4<n<8

SPACE FOR ROUGH WORK / T® @14 & fod e
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35. The minimum value of  35. sin3x+sin3(120° +x) +s5in3(240° + x) I
sin®x +sin3(120° + x) + sin3(240° + x) is : AAH HH B
R Ay 22
() &
B - By =
® ® 5
o 2 o 2
© 3 © 3
o 2 o 2
D) 3 (D) -3
36. If 36. Afg
sec ! (E) — sec! (ij =sec b ésec_la, sec ! (Ej — sec ! (ij =sec b ——sec"la,
a b a b
thenx = : ddx = :
(A) ab (A) ab
B - m 2
B ® 3
(C) 2ab (C) 2ab
b b
D) — O 7
37. The value of : .' ——————
_ 37. 2+ J2+ J2+ 2cos88 T
J2+ 2+ J2+ 2cos89 Where -
0<0< = HIAME:
- ‘
0<0< — jc-
g is
(A) 2cosb (A) 2 cosb
(B) cosf (B) cos®
(C) sind (C) sind
(D) —2cosH (D) —2cosb
SPACE FOR ROUGH WORK / T% &1 & fad wrg
Set - A 0129/ TE-MATH/RCE-M



38.

39.

40.

The acute angle in radians between the 38.

minute and the hour hands of a clock
when the time is 4 hours 20 minutes is :

(A) 0

®) 1
© 3
® -

If log, e, tanx +logg cotx=0, then the 39.

most general solution of x is :
A) 2nmw - 21_7_ nez
(A) 4’

B 2nw + T nez
®) =

C nmw — T nez
© 4’

(D)

m
nmT + —4—, nez

The number of solution of the equation 40.

sinf{x} =cos{x} in the interval [0, 2] is :
(where {} represent the fractional part
function)

(A) 6
B 5
(©) 4
(D) 3

et g1 TS & foe ofR = % el &
ot 1 FAE R I, TS TG 4 T
20 fae %1

(A) 0
®) 15
© 5
® ¢

af log s, tanx +loggn,cotr =0 %; qd x
%1 SIS T B

2nm — ﬁ, nez
4

(A)

(B) 2nm + E,nez

(C) nwT — E,nez
4

1
nmT + —, nez

(D)

ST [0, 2] H FHIR sinfx} = cos{x}
(St () freer T et S efeid e
%)?%’c’ﬁﬁﬁ“&l@?ﬂﬁ:

(A) 6
(B) 5
© 4
D) 3

SPACE FOR ROUGH WORK / T® &Td & o sg
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PART - 03

Geometry, Coordinate Geometry

41.

42,

The plane x+y=0is : 41.

(A) Parallel to z-axis
(B) Passes through z-axis
(C) Perpendicular to z-axis

(D) none of these

The sine of the angle between the straight ~ 42.

linex_2=y—3=z_4 and the

WO - 03
Sfafa, sienfede snfata

THIA x+y=0 :
(A) 2z-318 % THIHR §
(B) z-31% § YOI ®
(C) z-318 % ddeq T
(D) T8 | FE T

wWayE Y -2 _Y-3_z-4 quq
3 4 5

HHAA 25 —2y+z=>5 % &F &I A1 HI

3 4 5
plane 2x—2y+z=>5 is : T
V2 V2
AT & I
23 243
(B) . — B 5
J5
© - (©) ?
V2 V2
D) =& @) &
SPACE FOR ROUGH WORK / 7% & & fod wrg
Set - A - 18 0129/ TE-MATH/RCE-M



43. The  image of the line
x—1 y—-2 z+3
9 e in the plane
3x—3y+10z—26=0is :
A x+1 _y—4_ z+ 7
(#) 9 1 3
B x+4 _y-7_z—-7
() 9 2 -3
c x—-7 _y—4_z=-3
© -3 4 7
D x—4 _y+ 1 _z-7
(D) 9 -1 -3
44. The planes 3x—4y=0, x=0 and y=0
meet :
(A) ina line
(B) in a unique point
(C) taken two at a time in parallel line
none of these
D f th
45. The ratio in which the line joining
2, 4,5) and (3, 5, —4) is divided by the
y
YZ plane is :
(A) 2:3
(B) 3:2
< -2:3
(D) 4:-3

43.

44,

45.

z+ 3
= 3 w1 FHdA

3x—3y+10z—26=0 ¥ wfifsld & :

A x+1=y—4=z+7
(A) 9 = 1 3
(B) 9 - 2 -3
c x-7 _y—4_z-3
© -3 4 7 .
D x—4=y+1=z—7
(D) 9 -1 -3

T Sy -4y =0, x=0 Tt y=0 faew
%:I

(A) T&H W@ W

(B) et fog m

(C) THFR T@rsT § T §HE ¥ R
(D) ¥ @ HE T

fog (2, 4, 5) TN (3, 5, —4) 1 TN areft
@ Sl YZ FHael gR ferg s § faanfsa
HT T 7

(A) 2:3
(B)
(©
(D) 4:

3:2
-2:3
-3

SPACE FOR ROUGH WORK / 1% &Td & fo& s

0129/ TE-MATH/RCE-M
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46. The plane x—‘2y+z-6=0'éjé"ci thé line  46. 'qu'ﬂ?f x—2y+z:—6=0 qgar  lE@n
£='1=£z;r;relatedas: YoV % gafm?
1 3 1 3
(A) parallel to the plane (A) THIA & GHARR
(B) at right angles to the plane (B) HHAT W THE]
(C) lines in the plane (C) Twaa ¥ fe
(D) meets the plane obliquely (D) wvaa ¥ fodes ®u 9 foerdt ©
47. The equation x2—y2=a2, a > 0 represents : 47. GHE x2—12=a2 a >0 YERIA wL g
(A) a circle (A) TR
(B) a hyperbola (B) T Afd g™
(C) an ellipse (C) W el
(D) a rectangular hyperbola (D) Wk AEAERR SAdaererd
48. The equation of the directrix of the 48. RS x2+4y+4x+2=0 H FRRE =
parabola x2+4y+4x+2=0 is : T |
(A) x=-1 (A) x=-1
B) x=1 B) x=1
© =- © x=-2
2 2
D) =3 © =
SPACE FOR ROUGH WORK / &% &1& & fad e
Set- A 20 0129/ TE-MATH/RCE-M



49.

50.

51.

The distance between two parallel lines 49.

x2+2xy+y?>—6x—6y+8=01is :

The shortest distance from the plane  50.

12x+4y+3z=327 to the sphere
x2+y2+z2+4x—2y—62=155 is :

(A) 30
(B) 26
(C) 19

(D) 13

The locus of a first degree equationinx, y  51.

and zisa:

(A) straight line
(B) plane

(C) sphere

(D) none of these

a;[- 159 55 i-@-[aﬁ
22+ 2xy+1y2—6x—6y +8=0F &= A

R

|udd  12x+4y+3z=327 § T

P+ 2422+ 4x—2y—6z=155 I

e |
(A) 30
(B) 26
C 19

(D) 13

x,y T z H T A THIHTT 1 forgue
g

(A) T @

(B) wHaW

(C) Then

(D) T A i T

SPACE FOR ROUGH WORK / T% & & o e
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52. Skew lines are: L 52.

53.

54.

(A)
(B)
©)

(D)

The parabolas x?=4y and y?=4x  53.

intersecting lines
coplaner lines

parallel lines

none of these

e

intersect :~

(A)

(B)
©
(D)

The equation 54.

in a unique point
on the line y=x
on the line x +y=0

none of these

x2 Y2+ 22— 4x+6y—-82+29=0
represents : ’

(A)
(B)
©)

(D)

A sphere
A point
the empty set

none of these

forem (forder) W €
gio=sdl
(B) THQed Y@

(A)

(C) HARR @H
(D) T Q=g T

WETT x2=4y T y?=4x Ja=3 ST :

(A) T oHfgdia fog &
(B) Wly=x |
(C) Wix+y=0 R

(D) T & *E T

R

x2+y2+ 22— 4x + 6y — 8z +29=0 Ugf¥q
FAT '

(A) TN
(B) T fag
©) T T
(D) T 9 FiE T

Set- A
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55.

56.

57.

The image of the point (e, ) in the line
x+y=0is:

A) B o
(B) (-« B)
© (=B o)

(D) none of these

The line y=3x+\ touches the hyperbola
9x2 — 5y? =45 then the value of \ is :

(A) 6
(B) 15
(C) 36

(D) 45

The equation % + % = 1 represents a
a

vertical ellipse if :

(A) a?=b?

(B) a2>b?

(C) a?<b?

(D) none of these

55.

56.

57.

Wx+y=0 ﬁﬁﬂ'ﬁ(a, B)wuﬁrﬁ%r‘@lm:

(A) ® o

(B) (- B)
©) (=B —9)
(D) T & =

A W y=3x+r AfaRIA™
9x2—5y2 =45 I TIY HLT ¢ Al A HI AN
g

(A) 6
(B) 15
(C) 36

(D) 45

2 2 .
et X+ L =1 sefer dsige

PO
wefeld e © afe
(A) a2=b2
(B) a2 >b?

(C) a2<b?
(D) T | = T

SPACE FOR ROUGH WORK / T& &1d & fad g
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58. The orthocentre of the triangle formed by 58. O @Sl xy=0TMx+y=1 @ e By
the lines xy=0 and x+y=11is: T AT R -
11 11
(&) (E’ 5) (A) [gf 5)
11 11
) (Z / Zj (8) (;f Z)
11 11
© (5 ' 5) (©) (5' g)
(D) (0 0) (D) (0,0
59. Area bounded by the curves x=0, and  59. ki x=0FMx+2Jy|=1 % R & 1 &yhet
x+2y|=1is: EE
(A) 2 (A) 2
(B) 1 B) 1
1 1
© 3 © 3
1 1
D) 3 @ 3
60. Find all points on the line x+y=4 that  60. W& W1 x+y=4 ¥ Tft fogell = 9@
lie at a unit distance from the line SHITSIT ST | Y@ 4x +3y =10 ¥ THE g0
4x+3y=10 : R
(A) @G 1), (=7 11) (A) (3,1), (-7 11
(B) G 1), 7 —11) B (G 1), 7 —-11)
© (=3,1), (-7 11) © (-3, 1), (-7 11)
D) G -1, (=7, -11) (D) @3, -1), (=7, —11)
SPACE FOR ROUGH WORK / T% & & &3 se
Set - A 0129/ TE-MATH/RCE-M



61.

62.

PART - 04

Statistics, Probability, Linear
Programming

If the primal problem has no feasible
solution, then its dual problem has :

(A) unbounded solution

(B) either unbounded or no feasible

solution
(C) no feasible solution

(D) feasible solution, but not optimal

Given that P(A)=

’

W[

P(A\B) = — , then probability P(B/A)

N

is:

| =

~~
o)
e
| W

| =

(D) none of these

61.

1 62
P(B) = —, .
(B) 1

T - 04
Hifeaent, WTrehar,
fa=

Ife ST W1 ol 1S G T el &, dl
i‘aﬁmw@m:

(A) g &

(B) 1 3TafEg o1 Yo & el

(C) THT™ T T

(D) T &, foheg geeqm

fear 2 & P(A)=%, P(B)=%/
P(A\B) = % @ P(B/A) t Wk §
1
(A 3
3
) —"
1
© 3
(D) ¥ & = T

SPACE FOR ROUGH WORK / T® &1d & o g
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63. Two fair dices are tossed. Let A be the  63. ?«;IWQT@@WW%I T 998 99§
event that the first dice shows an event A &I AN h1 W2 A § 99 fedta o9 |
number and B be the event that the faom H@m 3T &1 921 B €1 92T A 991 B
second dice shows an odd number. The T
two event A and B are :

(A) Mutually exclusive (A) TR YIS

(B) Independent and mutually (B) T e WO STuES
exclusive

(C) dependent (C) A

(D) none of these (D) T | 1 &l

64. Consider the following data as a 64. T mjﬁf THfie % w9 # faar i)
population. If each data is increased by Ife Y&k iehel § 5 Sie faan <m §,
5. What is the effect on the mean and TERT ¥ WE HHe fo=e T R guE
standard deviation ? q??'rn?

15, 15, 33, 17, 30, 30, 20, 60, 45 15, 15, 33, 17, 30, 30, 20, 60, 45

(A) Both the mean and standard (A) WA TE A e HH 5 gis
deviation increase by 5. Bl

(B) The mean remains same, but (B) wiem eoftefda Tean €, fohg W
standard deviation increases by 5. forarem ® 5 &t g BN |

(C) The standard deviation remains the (C) wr= foaaem srafafda e g, forg
same, but the mean increases by 5. e | 5t gig Bt |

(D) Both the mean and standard (D) wieg U§ HA% fager HI eTaRafda
deviation remain the same. el

SPACE FOR ROUGH WORK / T% &8 & fad g
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65.

66.

A bag contains 4 red and 3 black balls. A 65.

second bag contams 2 red and 4 black
balls.
From the selected bag, one ball is drawn.
The probability that the ball drawn to be
red is :

One bag is selected at random

13
A o

14
B 5

19
©

20
O

An empirical relationship between range ~ 66.
(R) and quartile dev1at10n (Q D.) about

“ mean is

() R=40QD.
(B) R=9 QD.

(C) R=6QD.

(D) None of the above

% 9§ 4 A 90 3 FA Al §, T TR
¥ F 2 o a4 F St §1 T e
TefEs T TE TN I AT
st FepTen Sian §1 Fiepret T Sitet it &

13
A 2
14
B o
19
©
20
D)
faar (R) we wrea 3 wrs S foser
(Q.D.) % Tex AHfaF T ©
(A) R=4 QD.
(B) R=9QD.
(C) - R=6 Q.D.

(D) S Qe T

SPACE FOR ROUGH WORK / T& & & fol g
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67. Which of the following measures is the 67. = & 4 == @1 fawm gufie offws & fou
best measures of central location for a1y atefefa o w9 & fore waifies suge
describing skewed population data ? 9§ ?

(A) mean (A) W™
(B) median (B) Hftgent
(C) miode (C) 9gaR
(D) range (D) 9RE

68. If two events A and B are independent,  68. 3fg < W= A U1 B T &, T T =
then correct statement is : g
(A) AC and BC are independent (A) AC o BC W@ § "1
(B) A and B€ are independent (B) A q«l BC @A § {i
(C) AC and B are independent (C) AC T Bwaa € &

(D) all of these (D) ulE g+t
69. If A and B are any two mutually exclusive 69. IS A 9B TS T I TSI Wﬁ 7,
events then P(A/(AUB)) is equal to : W P(A/(AUB)) SRR € :
(A) P(A)/(P(A)+P(B)) (A)  P(A)/(P(A)+P(B))
(B) P(AUB)/(P(A) +P(B)) (B) P(AUB)/(P(A) +P(B))
(©) P(B)/(P(AUB) (©) P(B)/(P(AUB)
(D) P(A) (D) P(A)
SPACE FOR ROUGH WORK / T& &Td & fo&r wg
Set - A 0129/ TE-MATH/RCE-M



70.

71.

. " 4
If for a binomial distribution b(n, p), 70. 59 & b(n, p) H WA =4, U= 37

) 4
mean=4, variance = 37 the probability,

P(X = 5)is :

Which measure of dispersion is least
affected by extreme values ?

(A) range
(B) mean deviation
standard deviation

©)

(D) quartile deviation

71.

B @, Wi PX = 5) ®

1 ® | =9 T SrafeRtor sl 7Y = - qeAi
Y gaH g B § ?

(A) fo=r
(B) Wed fer=reH
(C) wMeh fa=em

(D) =gds fomem

SPACE FOR ROUGH WORK / T% &4 & o sg

0129/ TE-MATH/RCE-M

29

Set- A



72. If A and B are two independent events, ~ 72. J(G A T B & TS AW @, T
then P(AC'N BY) is equal to | P(AC N BC) &1 TR T : |
(A) P(AS) P(BY) (A) P(AS) P(BY)
(B) 1—P(AUB) (B) 1-P(AUB)
©) (@-PA)A-P(B) (©) (1-P(A)(1-P(B))
(D) all of these - (D) T |t
73. Data from a population yield mean=2360  73. T&% Wiafse & #wiega=360 a1 A
and standard deviation=4.5. then foreem=4.5 81 o 3tihei &1 fa=mor o
coefficient of variation of these data is : ?:
(A) 0.0125% (A) 0.0125%
(B) 1.25% (B) 1.25%
(C) 80% (C) 80%
(D) 8000% (D) 8000%
74. If ACB, then probability P(A\B) is : 74. 4IfC AcB ¥, @ WikeRdl P(A\B) &1 :
(A) zero (A) I
(B) one (B) TH
(©) P(A)/P(B) (©) P(A)/P(B)
(D) P(B)/P(A) (D) P(B)/P(A)
SPACE FOR ROUGH WORK / 1% &I ésvfa@r e
Set - A
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75. For Bernoulli distribution with probability
p of a success and q of a failure, the

relation between mean and variance that
holds is :

(A) mean < variance

(B) mean > variance

(C) mean = variance

(D) mean < variance

76. (A): Every solution satisfieds non-
negativity restriction in LPP.

(B) : Every feasible solution satisfies non-
negativity restriction in LPP then.

(A) (A) and (B) both are true

(B) (A)is true

(C) (B) is true

(D) Both (A) and (B) are false

75. Sl foaor § Ao i g p e
STIRE B 1 UTehdl q &, 1 T84 Tal FE0
% ney 3faa Hey §

(A)

(©

(D)

76. (A):

(B) :

©

(D)

HET < G0

HET > GO

e = JEOl

HIET < GEIT

LPP H Ycieh 3 R0 Gfcs®l ohl €
FHLA R

LPPﬁmwwWwﬁaa
I I A & TS

(A) 71 (B) < HeA ¥

(A) T

(B) ¥ ¥

(A) T (B) ST 3TEA ¥

SPACE FOR ROUGH WORK / T% &1 & fed wrg
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77. In which quadrant, the bounded region  77.

for inequalities x +y<1 and x—y<1 is
situated :

(4) (@, 1

(B) (D), ()

(© (@), (1)

(D) All the four quadrants

78. The probability that is a random 78.

349‘£|$I§x+y$1 A —y<1 § RG &3
fre wguin & feem@ 82

(4) @, 1@
(B) (D), (1)
(©) (I, ()

(D) &t =Rl =geta o

W FAVOURABLE & 31&Ri & Agi=%

arrangement of the letter of the word Y Y AT F H QY A Th WY A
FAVOURABLE, the two A’s do not come T IforeRe §
together is :
A = A L
(A) (Aa) 3
B — By L
B 75 )
o — o 2
© 10 © 10
4 4
D) 3 D) 3
SPACE FOR ROUGH WORK / T® T4 & &9 s 1g
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79. For the linear programming problem
Max z=6x, +5x,,

subject to x; +x, < 5,

3xy+2xy < 12, xp, x, 2 0.

The optimum value of z is :

(A) 24

(B) 25
< 27
(D) 30

80. There are four coins in a bag. One of the

coins has head on both sides. A coin is
drawn at random and tossed five times
and fell always with head upward. The
probability that it is the coin with two

head is :
o 3L
(A) 128
1
B 3
o 2
©) 35
(D) none of these

79.

80.

g Srme wwen & fag
3ferss z =61, +5x,,
Fiesi® x; +x, < 5,
3xy+2xy < 12, x4, x, 2 0.
ﬁzwwm%:

(A) 24
(B) 25
©

(D)

27

30

& Ot H 4 fowk €1 s faak & Ml oI
¥ (head) B! Igo® &4 § T fasm
A1 91 € T 5 IR SSEAl Sl & a1 o
7o i o €1 39 faask % <M1 SR i

et ot B9t WIfaehan © ¢
31

(A 1o
1

® 3
32

© 35

(D) 79 | #¥ T

SPACE FOR ROUGH WORK / T& & & fas g
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PART - 05

Differentiation-Integration

81. If f(x)=cosx and 81. 3fS f(x) =cosx T
_ [min {f(t): 0 S+<x}0sx<mw min { f(t) : 0 S+<x};,0<x<m
8(x)= sinx-1 ;x> (x)={ - s
; sinx—=1 ;x>
then g(x) at x=mis : x=m R g(x) 2.
(A) not continuous (A) Had T
(B) not differentiable (B) TaherIa &
(C) differentiable (C) FTHEA
(D) continuous but not differentiable (D) Had Reg ke el
82. Solution of the differential equation 82. STEH THIHIT xg_y_ + y=x3 FEA T :
x
dy 3
—_ + = Q.
xdx y=x 1s:
A _x t x>
B _ x_?’_ n const. x3 IR
( ) y= 4 X (B) y = —Z + T
(C) y=x3+const. (C) y=13+3FR
(D) none of these (D) T T B T3l
SPACE FOR ROUGH WORK / T% &Td & fod srg
Set - A 0129/ TE-MATH/RCE-M



: dy T ™ dy e
83. The value:of =< gt x=—, where = =J : — (i \COST X .
1% > 83. «x > ERS 1x T HM, S8l y = (sinx) AR

y=(sinx)°s%, is :

(A) 1 (A) 1
®B) -1 B) -1
) 0 © o0
(D) none of these | (D) T 9§ &% T8l

84. ForO0<x< I,whichofthefollowingis 84. 0<x< g % foru, frafafea & 9 <F @&

2
correct ? g7
. 3 : 3
(A) cosx > (S]?xj (A) cosx > (su;x)
. 3
(B) cosx < (Su;x) (B) cosx < (s1;1x)3
- oN\3 . 3
(C) cosx = (su;xj (C) cosx = (su;x)
(D) none of these (D) 79 9 HE TRl
85. lexldx= 85. jx|xldx=
o x3
@ 3 A) =
® @ 2
3 3
22 x| % |x|
© X © =
ki I
D) - D) =

SPACE FOR ROUGH WORK / T& @14 & {9 g
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86.

87.

88.

The left hand derivative of f(x) at x=0, 86.

xsinl, x #0
x is :

where f(x)= {O =0

(A -1
(B) 0
© 1

(D) does not exist

Maximum value of x —sinx in [0, 7] is : 87.

(A) 0

x —0 X

(D) none of these

1
e—(1+x)* _ 88.

x=0 W flx) 1 99 T THeH, &

.

inl
xsmx,x;tO%

f(x)={0 , x =0,

(D) sIfdE &

[0, 7] W x— sinx I-HETH AE ¥ :

(A) 0

1
Lt e— (1+ x)* _
x -0 X

a) —5

e
B 3
€ 1
(D) T & =

SPACE FOR ROUGH WORK / T% @& & fed s71e
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89.

90.

91.

e o/ |
The left hand limit of f(x) = ——— at 89.
s+ 1
x=0is:
(A) 0
(B 1
< -1

(D) none of these

’ 1
If x2+ y2= t+l and x*+ y4= 2+,
: t t2

none of these

j_dx_=
2x2 + 3x —4

2x+\/§—\/ﬁl
2x + 3 + V11|

110
A1 8

(A)

2x + 3 - J11
2x + /3 + 11

B LIO

1
PN

none of these

2x + 3 + V11
2x + /3 — J11

©)

(D)

90.

91.

wH f(x) =
e’r +1

AR

A) 0

®B) 1

© -1

(D) T 9 % T

A 12+ 2= t+%39ﬂx4+ yh= 24—,
t

'd-ax\?vy%_
Ay ~1
(B) 1
© o
(D) T | HE Tl
J'_qu_=
2x% 4+ 3x — 4
1, o[22+ 3 - V1
(A 7T 8 [2x + B + v
1 2x + /3 — V11
B AT 8 |2x + 3 + 11
1 2x + 43 + V11
© A1 8 |ox + 43 — V11
(D) T Qw1 T

1

0129/ TE-MATH/RCE-M
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: , dy : - dy
92. If y=log sinx and z=eS"%, then a1z 92. 4f¢ y=Ilog sinx ql z=e%0%, q9 dz
sin x sinx
(A) vesinx ) (A) esinx
(B) sinx eSin¥ (B) sinx eSin*
N ot
(C) sinx esinx (C) sinx esinx

(D) none of these (D) T IS TRl

93. The difference between greatest and least 93. el

values of the function 1 1
y = cosx + Ecos2x - 5cos3x + 1%

y=cosx+%c052x—-%cos3x+1is; ﬁ @ﬁﬁﬂ%mmw%
s °

) 3 (A) 3
4 4

B 3 ® 9
1 1

© 5 © 3

(D) none of these (D) FHH HIE TEl

94. If f(x)= % and g(x)=x — 9, then 94. AR f(x)= %?MT g(x)=+x — 9, d@gf

domain of gf = 1 T =

(A) (==,9 (A) (=«.9)
B [-99] (B) [-9 9]
© 19 =] © 5 ~]
(D) R (D) R

SPACE FOR ROUGH WORK / T% @t & fo e
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95. Every continuous function is : 95.

(A) differentiable
(B) increasing
(C) not differentiable

(D) decreasing

96. The tangent to the parabola y?>=2x at  96.

1
(E' 1) makes angle with x - axis :

(A) 30°
(B) 45°
(C) 60°

(D) 90°

7
97. -‘- log cosx dx= 97.

0

T 1
2 log —
(4) 2 8 2

(B) 1log?2
(@) -121-— log 2

(D) 0

TS Had He ©
(A) STERTHE

(B) @EuN

(C) oTaherE &

(D) @EHA

ey =2 g (3 1) e
x - 3787 % 1Y HI0] I § :

(A) 30°
(B) 45°
(C) 60°

(D) 90°

7%
I log cosx dx=
0

A—Elo-l—
(B) 5 83

(B) mwlog2
Q) g-logz :

(D) 0

SPACE FOR ROUGH WORK / T& &T& & i S8
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98. For any real number C, the polynomial  98. f®¥i areafas ¥&a1 C & fau agus
f(x)=23+x+C has exactly how many fla)=23+x+C & I fora arcatass g
real roots ? BT ?

(A) 1 (A) 1
(B) 2 (B) 2
© 3 © 3
(D) not fixed (D) fraa =&

99. The area bounded by the parabola 99, WeA (y-—2)2=x-1, WITA & fog
(y—2)2=x—1, the tangent to the (2, 3) W ¥ @1 TS x-378 § UReg &hel
parabola at (2, 3) and x-axis is : g
(A) 3 sg: units (A) 3T geEEr
(B) 4 sq. units (B) 4o gewEEaAl
(C) 5sq. units < 5 ot Al
(D) 242 sq. units (D) 2.7 o gEEAl

2 2

100. Ifx=J.0y\/-1§;?,then—jx—g= 100, =fE x = é/\/%, dng
(A) 9y (A) 9y
B) 9 (B) 9
© 0o (C 0
() |1+ 9y D) |1+ 9y

SPACE FOR ROUGH WORK / T% & & fo&t S
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PART - 06 HIT - 06

Education Psychology, Education ﬁ'rw HAfeRT, fora A atiehem
Evaluation and Assessment, TS Yedien, freromeme, viferen
Pedagogy, Teaching Attitude afugfa

101. As per National Curriculum Framework 101. T TS=Al SUET 2005 % AR wM
2005 “The association of work with o e g NEE e B WA B

education is indispensable” means :

(I)  The development of co-operative () T¥en gR1 WEehIRdl =i HAHeRdT
mindset by the means of education. [EEaR

(I) Preparation for the participation in (1) i iR T seeme | wrieR!
economic and social change. & foe o

(A) only (T) (A) = (1)

(B) only (II) (B) e (1)

(©) (D and (1) (©) (@) 3 ()

(D) Neither (I) Nor (II) (D) =1 (T) 3R & (1)

102. The problem solving method is not suitable ~ 102. BTl Fefisti % foaw werean-gonr fafer suga

for lower classes because : & ? i

(A) Itis a time consuming process (A) I A T T STl SR §
(B) Students are less interested (B) Toreneft %w &9 o g

(C) Students do not possess sufficient (C) o=l & urE vaiw gd I el 2l

previous knowledge

(D) There are no committed teachers (D) Tiierg femk 7& 8

SPACE FOR ROUGH WORK / 1% & & fed g
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103. To enhance the efficiency and 103. fy1eres ! =nfeu fob qara oiR et faen

professionalism a teacher should : % foTe =g -
(A) attend a skill enhancement (A) HE T FriEd § 9 o
programme
(B) become a part of formal/non-formal (B) T siiuenfiew/ eaiis e o
teacher’s association T FGH T
(C) both (A) and (B) - (C) (A) 3R (B) 3l
(D) none of the above (D) SR H A FIE &l
104. Creativity is a branch of : 104. ¥STHAIHSKA Th ;M ?:
(A) Industrial Psychology (A)  Sfrenfies e
(B) Educational Psychology (B) Toan wifem™
(C) General Psychology (C) wHE TR
(D) Personality Psychology (D) AT AR
105. Good teaching is a function of : 105. ITH AT He §
(A) Sincerity and devotion to the (A) ST =EEE % 9id TAFGRT s
profession of teaching. T3t
(B) Principal's powerful leadership in (B) fommera ¥ I ST SEIER e
the school.
(C) High academic qualifications of the © Trerhi =t 5= TR JRAT H
teachers.
(D) High level scholarship of the (D) el 1 3= Wt fergmn A1
teachers.
106. Characteristics of good test is : 106. 1= Teyor Y fadoamd €
(A) Validity (A) dua
(B) Reliability (B) TorvarsHtgar
(C) Objectivity (C) ergiTeal
(D) All of the above (D) Ul |
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107. A teacher can play a significant role in
making gender friendly environment by :

(A) making classroom environment
gender sensitive

(B) ensuring greater participation of

girls over boy students
(C) giving more marks to girl students

(D) none of the above

108. In which category the students whose
behaviour is abnormal or create improper

problems are categorized ?

(A) Backward Children

(B) Mentally Retarded Children
(C) Problematic Children

(D) Gifted Children

109. What can be the main methods of

assessment ?

(A) Individual assessment

(B) Collective assessment

(C) Assessment through classmate
(

D) All of the above

110. The nature of interaction in classroom is :
(A) Non-verbal
(B) Verbal
(C) Verbal and non-verbal
(D) None of these

107. T STeIRE Srqget ameRel & fmior # T
Torerer weearqul Yyfaent 1 frafe X Tk @
(A) HET-He AR o feiT v Horgsiat
R

(B) ST 6 TR B e | e
HT

(C) TS Fi S sih T

(D) SR H 4§ hLE Tal

108. TS =geeR H I VH UM o1 Bkl
o e H ST THEd Sl R § SR
$Y STeTeh] i 0N H T S Gk & ?
(A fuss saw
(B) Hadfg STeTR
(C) TSNS eTeh

(D) et Setes

109. SThTH % TA b i ¥ & Fohdl © ?

(A) SAfETA HAeheH

(B) HHfew STeheid

(C) wRwfsd grI ehe
(D) 39U Gt

110. HeT-hel § 3fafshan i ypfa St T -
(A) S-Hifgs
(B) wifaes
(C) Tife® IR FI-Hifags
(D) T 9 FE T
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111. “Human behaviour flows from three

main sources : desire, emotion and

knowledge” is said by :

(A4)
(B)
©)
(D)

Plato.

Socrates

H. More

A.PJ. Abdul Kalam

112. Which set of activity indicate the correct
approach to Inductive reasoning ?

(A)

(B)

©

(D)

Specific instance - observation -
generalization - verification
Observation - verification - specific
instance - generalization
Observation - generalization
verification - specific instance
Verification - observation - specific

instance - generalization

113. What is the merits of assignment ?

(A)

(B).

©)
(D)

Seriousness for work
More workload on students
Encouragement of self study

None of the above

114. In the rural sector the responsibility of

primary education lies on :

(A)
(B)
©)
(D)

Gram Panchayat
District Council
Co-operative Societies
Both (A) and (B)

111. *‘ Ao SRR 9 & idl ¥ Yalfed eIl g :
Zo, WIa SR FA' R TR

(A) ®RIEN

(B) T BN

(C) A RWEA

(D) TS, 37sge1 Hel™. g

112. ST ok i 3R Gelohdl W Yohd

e 158 A

(A) Tafere 2 - sTaeieh - SMiHT
- FTH

(B) TR — HeaTod - fafere s -
HAfRTO

(C) ST - HHRTT - FAdH -
fofiree sl

(D) T ~ 37acieh - fafere W -
Elieicau|

113. T 9 T A1 B ] ?

(A) =@ % gfd R

(B) fomnf¥fai o wRiWR w1 sAfeshar
(C) T&TEA™ Wl HIcamed
(D) W | ¥ HE Tl

114. TrHror & | Wt faan w61 o B
?:
(A) UM 9EEE W
(B) TSt uftog |
(C) WTEHRI Fesl W
(D) (A) 3R (B) qF W

Set - A
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115. “A project is a whole hearted purposeful

116.

117.

activity proceeding in a social

environment”. According to whom ?
(A) S.C. Parker

(B) J.A. Stevenson

(©) W.H. Killpatrick

(D) John Dewey

In which stage the mental development
of children is fastest ?

(A) Later childhood
(B) Babyhood

(C) Early childhood
Pre-Adolescence

(D)

State the reason behind the difference in
allotropes of carbon. This question is
related to which aim ?

(A) Understanding
(B) Knowledge
(C) Skill

(D) Application

115.

i1e.

117.

" QTSI W SR B ol derrar 9§
TopanT ST STe SexaqU il €17 foRwes SR
TEHL qE

(B) WU VaEd

T 0. foatie

S St

g 1o W 9= 1 aAfas faem oSt 9
AT ?

(A) S ST
(B) SI=UIEE
(C) URfYe: STeamaen

(D) <TuneERn

e o ST H FI=TT Rl 0] FaET - 3
Ty fry 32va § Heifaa &2

(C) IV
(D)  STI9ER
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118. Which of the following statements

119..

120.

regarding cultivating learner’s sensitivity
towards learning is/are true ?

P) Pedagogy has to depend upon the
&o8Y P p
process rather than the product.

Q)

Teacher should enquire about
previous knowledge in relation to

what is being taught.
(A)
(B) (Q) only
(C) Both (P) and (Q)
(D) Neither (P) nor (Q)

(P) only

“The cognitive development’s stage of

formal operation starts from

Adolescence”. Who said this ?
(A) Terman

(B) DPiaget

©
(D)

Baylay

Livesay

The competency of an effective
communicator can be judged on the basis
of :

(A) Personality of communicator
(B)  Experience in life

©)
(D)

Interactivity with target audience

Meeting the needs of target

audience

118. Torenelt & siferm & wfa Haesied = fae™

119.

120.

[(®)

H F oy ¥ Frafataa § E 978 weF
T §?

(P) Toaor s Scg Wt oS GishAr W
Freft T

forersr 1 =g foF 9 ve@ M o™
qel % HeW H ge IE ) Ipas wl|

(A) e (P)
(B) oA (Q)
(©) (P) ¥R (Q) &
(D) & (P)T(Q

Torem war & Tor - fopeiereen & & darieas
faera i =i Uiae & STae TRY
a_fﬁ%!“

(A) =
(®)
(©) =
(D) oo

T T WY <hi &7 o 0T 3 STTUR
BT :

(A) HYEh 1 Ak

(B) i 1 Ay

(C) wfer Sefahl =t Stafshamiteral

(D) <fta <elenl i STevasarst i qfd
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121.

122.

123.

According to George David Birkhoff, the
relation between the complexity (C) of the
object, symmetry/order (O) and aesthetic

‘measure (m) is :

(A) O

The role of teacher in a social

constructivist classroom is to :

(A) allow student’s responses to drive

his lesson.

(B) focus on student’s learning rather
than on teacher’s performance.

(C) facilitate the learning environment
where students are encouraged to
be responsible and self governing,

(D) All of the above

Which among the following is/are

point(s) of concern for designing a

curriculum ?

(I)  Evaluation techniques

(I)  Subject matter

(Ill) Learning experience

(A) (D) and (IN)

(B) (II) and (III)

(C) only (IT)

(D) (@), (II) and (III)

121.

122.

123.

Sitst sfare foR@ie & ST9R a5 i Sfeern
(), wafafa =1 %w (0) iR Hreaiers g
(m) % o= FY T

o
]

(A)

(B)

g
B0 nlo n|s

T HHISTeR TETeET el H ferereh it sffiret

FREXCER

(A) B ® YfafEAe & AT S H
HEE

(B) TRrerk & Yeu i eaen fornfoRii &
S W s g w0

(C) & ferm TR 1 i #Y et
forneff St oiv eew ww %
foa e fordr e

(D) Sl |t

freifera o 9 ey frafor & ged o
Toremony fag ¥/

() g yfafy
(1) for g
(1) At ST
(A) (@R
(B) (I1) 3R (110
(C) (1)

(D) (D), (I IR ()
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124. “Ttem Analysis” for standardization of

any test is done in which step ?
(A) Planning the test

(B) Preparing the format of the test

—~~~

C) Trying the format of the test

(D) Evaluating the test

124. el g & gumdieo & foau ‘'ug

fagermr’! forg o ¥ foran s 82
(A) T T QIS A
(B) TRI&IUT ST WIEY ST
(C) & & Y& H S
(D) ORI&TOT <hT HeATh

125. Demerit of Present evaluation system is : 125. SAHM TSR Jomet i R
(A) Development of self confidence (A) eTcHfavems o fasm
(B) Encourage rote learning (B) T HIcHTEA
(C) Giving less importance to ©) Hsifaw fowadl W w9 7R o
theoretical subjects
(D) Giving more importance to (D) e fawel w1 itk wew o
practical subjects
. 126. In which subject, subject related games, 126. 1 @ fawa § fawa 9 de O, wier,
riddles, stories etc. should be used ? FHeEal smfe 1 y=m foman S =nfee ?
(A) Mathematics (A) Tifo
(B) Language (B) ™I
(C) Science (C) faam
(D) Social Science (D) HmHISTR T
127. The word motivation has been originated 127, SITHRUN 38 &1 Seaid Toh TH ifed weg 9
from the Latin word. Whose meaning §?§ %, forgent a1ef & :
is:
(A) Encouraging (A) ST T
(B) Pushing (B) #aRRl &
(C) Pulling (C) @r=
(D) Directing (D) TR e
SPACE FOR ROUGH WORK / T% & & ferd e
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128. The method for sequenced study in  128.

controlled condition of behavioural and (
mental process is :

(A) Experimental method

(B) Observation method

(C) Survey method

(D) Introspection method

129. The correct sequence of the behaviour as 129.

per the taxonomy of manipulative and

motor skills are :

(A) manipulation- precision -imitation -
articulation-naturalization.

(B) imitation- precision-manipulation-
naturalization - articulation.

(C) imitation-manipulation- precision-
articulation - naturalization.

(D) manipulation-imitation - precision-
articulation - naturalization.

130. “Mistakes are not to be covered up; they 130.

are to be used constructively” means :

(A) Teacher should discuss the errors
made by a student with the entire
group.

(B) Teacher’s focus should always be

on mistakes committed by students.

(C) Mistakes should be used as a tool
for self analysis.

(D) The occurrence of errors should be
avoided.

Tordt erer W AFtas gfswen & fod
T stereen # shuelg 31899 & @t fafy
T

(A) v fafy

(B) H&w fafy

(C) §o fafya

(D) afau fafy

gL 3R HEe hIedl % iRl %
wwwwwvﬁm%:

(A) TR - HEHRAT - Tohel - AT -
EEAGERU

(B) Tkl - HEIRAT — BLHT - Fehfahao -
SIECIER]

(C) el - BT - Heeha — stfvyeafa -

" Tt sl g A1 S sfed 3% TEAHE
w9 7§ wren o et §

(A) Torerer ek forened gro =t w8 yfeal
== QA ¥ ®L

(B) Taaw =1 v wia faeneff it Tafal
U ehfed g1 =nfeu ) |
(C) Tl Bl 3ATH-faeeioT & IYsHIur
% €9 | FART H TR S 9y |
(D) Ffedi w1 & el ST =R |
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131.

132.

HIT - 07

e f&=<t

S U F It % fore ww famwey fod ma
1 oMU wE faseq o1 o A R

TRt WA T o ot ¢
(A) T H

(B) 8 sl

(C) s

(D) YIS =TT &1

133. TFg o2 & T =70 § 28 AENE Bl § 2

134. ‘e =1 IS ST Sharerd 1 1Y ® ¢

135.

(A) 3T S SIfek A B |
(B) 3N ARt ket W L 2 |

(C) <o <1 STaTS! e et B

(D) = T STETS] & e o Sl @ TR sud
feperr aref &2

“forae Sfs st wfefe,

T TIfE TRE TR |

T F T ST o, =g Foa 1 -
7 dfeEl § S W STeRR T2

(A) TR TN ThIfeRT

(B)  STHTUS YAV Sfshiferl

(A) wifae
B) &
®) (C) =g STEhife
(©) <
(D) e (D) v & g
SPACE FOR ROUGH WORK / T% &g & fod se
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136. The Red Cross gives -

137.

PART - 08

General English

__topeople
in need. '
Pick out the correct word to fill up the
blank.

(A) ade
(B) aed
(C) aid
(D) aide
My brother and I borrow one another's

clothes.-

Indicate the class of the underlined
pronoun in- the above sentence by
selecting the correct alternative from the
following :

Reflexive
(B) Reciprocal
(©) Indefinite

(D) Demonstrative

138. The Rambert Dance Company won the

139.

140.

country’s  largest  arts
the Prudential Award.

Which of the following best expresses the

prize,

above sentence into passive form ?

(A) The prudential Award has been

won by the Rambert Dance

Company.

(B) Thelargestarts prize, the Prudential
Award is won by the Rambert
Dance Company.

(C) The country’s largest arts prize, the
Prudential Award, was won by the
Rambert Dance Company.

(D) The country’s largest prize, the

Prudential Award, had won by the

Rambert Dance Company.

Tom wanted to buy the leather jacket
, his empty wallet persuaded

him not to.

Choose an appropriate conjunction form

the following to complete the above

sentence.

(A) earlier

(B) afterwards

(C) moreover

(D) however

The idiom to hang up one's hat means :
(A)

To make oneself comfortable in
another person’s home

(B) To have respect for someone

(C) To keep a thing secret

(D) - To talk nonsense
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PART - 09

General Knowledge of Computer

141.

142.

CPU gets the address of next instruction
to be processed from :

(A) Instruction register
(B) Memory address register

(C) Index register

(D) Program Counter

Which have the largest memory storing
capacity from optical media group ?

(A) DVD-RW
(B) DVD-ROM
(C) Blu-Ray

(D) DVD-RAM

141.

142.

HIT - 09

| IR Sl W S

CPU®I T e B e STl
T 1 wan Taern €1

(A) T TR
(B) HHII TgH USEX
(C) zUeH IR
(D) U SIS

g oiffesa tfem TR H vod 9! €S
& T ?

(A) DVD-RW
(B) DVD-ROM
(C) Blu-Ray

(D) DVD-RAM
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143. In graphical system, the array of pixels in 143. TTHI%A faeen ¥, fuser § fyedes st ol

the picture are stored in : LDl T =R fHm s 71
(A) Memory (A) TER

(B) Frame buffer (B) TRH W

(C) Processor (C) IHW

(D) All of the above (D) SUdE |t

144. To spell check which function key you  144. 39 ®H € ®RM sl WA 9F & o

will press ? a2
(A) F5 (A) F5
(B) F6 (B) F6
© F7 (C) F7
(D) F8 | (D) F8
145. What is the fuser roller coated with ? 145. TSR YR fohdeh A1y wifta g & 2
(A) Teflon (A) TTAMA
(B) Aluminium (B) TUgfhfm
(© Ink © ¥
(D) Rubber (D) INW
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PART - 10

General Knowledge

UTT - 10
=T #H

146. Which of the following is not a  146. Trfofaa fasmn a1 Feen o SR
department or institution of planning TEHE:
commission ?
(A) Coordination department (A) HH=E faam
(B) Subject department (B) Too= faumn
(C) Super Cabinet (C) YR FHfae
(D) National development council (D) T fasm aftog
147. Who founded the ‘Satyshodhak Samaj ? 147, ‘Gcasiesh WSl ot TA1q1 feora foham o ?
(A) Pandita Ramabai (A) dfear TEE
(B) Mahadeo Govind Ranade (B) WEIRd Tferg TS
(C) Mahatma Gandhi (C) TRTeH! et
(D) Jyoti Rao Phule (D) SEifd T& A
148. Temperate zone line between which 148, i wfesier fohg &1 i e g2
contour ?
(A) North of tropic of cancer and south (A) ek @1 o I T HAL 1@ h Tfaqor
to tropic of capricorn F YT
(B) North of tropic of capricorn and (B) R @I F IW @ Tk Y % gf
south of tropic of cancer E R )
(C) Region arounded the equator (C) FeA @ % ™ T 6 Je¥
(D) West of the tropic of cancer and east (D) o @ & Ufvem TE Wt 1@ % ol
of the tropic of capricorn T
SPACE FOR ROUGH WORK / % &4 @ fadl 718
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149. Which of the following folk song of 149, Tr=fafem o ¥ $ @ ST Slispid g1

Chhattisgarh is a narration of Purana ? AT E ?

(A) Suvageet (A) garfa
(B) Sarvangeet (B) WLETiA
(C) Kewala Rani (C) heen TH
(D) Lorki (D) <R

150. In which Article of Indian Constitution 150, WRd™ GEaM § uifife w@ds@ &1 ARER

the Right to religious independence is forg sTq=g W yeM fohan T § 2
given ?
(A) Article 25 (A) ST 25
(B) Article 12 (B) ST=T 12
(C) Article 30 (C) 3FT=% 30
(D) Article 38 (D) 3T=8% 38
-00o0- -00o0-

SPACE FOR ROUGH WORK / T% &M & 619 T

0129/ TE-MATH/RCE-M 55° Set - A



v3as

SET - A
I 3TeRd I T WO ¢ 3 HES } { fereRan 3fek : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e
1. 39 yW-Yiae § f 9 i
(1) it Tfora, STIRA SR &€, sHEE-HE 20 3T
(2) Prevfafa 20 3%
(3) afafa, wieTféne sfufd 20 &
(4) wife, Wi, e T 20 3w
(5) STEHTT-HHIHEA 20 3
6) Sferer T, fren F sticher wd geaies, faorre, Ak afwfa 30 3T
(7) W= e 05 e
(8) wH SUSH 05 ek
(9) TR F WA SIFHRT 05 ek
(10) HHF IH 05 3f&

% YT 1 3% 1 &1 Pl 150 T FHH AEE 2 |

2. W & SW, § T OMR S~ (HiEwEie) R HfH Hifsm

3. TeTd IO Iifeha T WX 1/4 3{ah 1S SR |

4. e ot e ¥ oo T @i Soet @ AR B H FEE i § |

5.  OMR ST-¥ie (STEReiie) &1 T F33 T T g STUaur 7 o/ o s T B 5 Al
398 Hie =1 faeae i 78 Wi uF werasy 98 Tl 8 5 |

Note :

1.  This Question Booklet consists of Parts namely :
(1) Algebra, Sequence and, Series, Permutation-Combination 20 Marks
(2) Trigonometry 20 Marks
(3) Geometry, Coordinate Geometry 20 Marks
(4) Statistics, Probability, Linear Programming 20 Marks
(5) Differentiation-Integration 20 Marks
(6) Education Psychology, Education Evaluation and Assessment, 30 Marks

Pedagogy, Teaching Attitude

(7) General Hindi - 05 Marks
(8) General English 05 Marks
(9) General Knowledge of Computer 05 Marks
(10) General Knowledge 05 Marks

Each question carries 1 mark. All 150 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3.” " 1/4 mark will be deducted for each wrong Answer. -
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5. While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles. :
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